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Bonds Payable
Large companies need large amounts of money to finance operations. They may borrow long-
term from banks or issue bonds payable to the public to raise the money. Bonds payable are
groups of long-term notes payable issued to multiple lenders, called bondholders. By issuing
bonds payable, a company can borrow millions of dollars from thousands of investors, rather
than depending on a loan from one single bank or lender. Each investor can buy a specified
amount of bonds.
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Each bondholder gets a bond certificate, which shows the name of the company that borrowed
the money, exactly like a note payable. The certificate states the principal, which is the amount
the company has borrowed. The bond’s principal amount is also called maturity value, or par
value. The company must then pay each bondholder the principal amount at a specific future
date, called the maturity date.
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There are many similarities between the accounting for short-term notes payable and long-term
notes payable. People buy bonds to earn interest. The bond certificate states the interest rate that
the company will pay and the dates the interest is due generally semi-annually (twice a year).
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Bond terms
Bond terminology is important to understand.
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Principal amount (also called maturity value, or par value): The amount the borrower must
pay back to the bondholders on the maturity date.
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Maturity date: The date on which the borrower must pay the principal amount to the
bondholders.
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Stated interest rate: The annual rate of interest that the borrower pays the bondholders.
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There are various types of bonds, including the following:
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« Term bonds all mature at the same specified time. For example, $100,000 of term
bonds may all mature 5 years from today. )
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« Serial bonds mature in installments at regular intervals. For example, a $500,000, 5-
year serial bond may mature in $100,000 annual installments over a 5-year period.
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« Secured bonds give the bondholder the right to take specified assets of the issuer if the issuer
fails to pay principal or interest. A mortgage on a house is an example of a secured bond.
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» Debentures are unsecured bonds that aren’t backed by assets. They are backed only by the
goodwill of the bond issuer.
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Bond Pricing
Maturity (Par) Value Discount
e $1000 bond issued for e $1000 bond issued for
$1000 $980
e No discount or premium e Issued below maturity
value
Premium
e $1000 bond issued for
$1015
e |ssued above maturity value

A bond can be issued at any price agreed upon by the issuer and the bondholders. There

are three basic categories of bond prices. A bond can be issued at:
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« Maturity (par) value. Example: A $1,000 bond issued for $1,000. A bond issued at par has no

discount or premium.
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« Discount (or Bond Discount), a price below maturity (par) value. Example: A $1,000 bond
issued for $980. The discount is $20 ($1,000 — $980).
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« Premium (or Bond Premium), a price above maturity (par) value. Example: A $1,000 bond
issued for $1,015. The premium is $15 ($1,015 — $1,000).
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The issue price of a bond does not affect the required payment at maturity. In all of the preceding
cases, the company must pay the maturity value of the bonds when they mature.
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Bond prices are quoted as a percentage of maturity value. For example,
« A $1,000 bond quoted at 100 is bought or sold for 100% of maturity value, ($1,000. x 1.00)
« A $1,000 bond quoted at 101.5 has a price of $1,015 ($1,000 x 1.015).
* A $1,000 bond quoted at 89.75 has a price of $897.50 ($1,000 x .8975).
The issue price of a bond determines the amount of cash the company receives when it issues the
bond. In all cases, the company must pay the bond’s maturity value to retire it at maturity.
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Present Value

Money earns income over time, a fact called the time value of money. Let’s see how the time
value of money affects bond prices. Assume that a $1,000 bond reaches maturity three years
from now and carries no interest. Would you pay $1,000 to purchase this bond? No, because
paying $1,000 today to receive $1,000 later yields no income on your investment. How much
would you pay today in order to receive $1,000 in three years? The answer is some amount less
than $1,000. Suppose $750 is a fair price. By investing $750 now to receive $1,000 later, you
will earn $250 over the three years. The diagram that follows illustrates the relationship

between a bond’s price (present value) and its maturity amount (future value).
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V.
Present value is always
| I—
Present value: Future Value:
Today’s price $750 Maturity value $1000

Less than future value

Bonds are sold at their market price, which is the present value of the interest payments the
bondholder will receive while holding the bond plus the bond principal paid at the end of the
bond’s life.
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Two interest rates work together to set the price of a bond: )
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» The stated interest rate determines the amount of cash interest the borrower pays each year.
The stated interest rate is printed on the bond and does not change from year to year.
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« The market interest rate (also known as the effective interest rate) is the rate that
investors demand to earn for loaning their money. The market interest rate varies daily. A
company may issue bonds with a stated interest rate that differs from the market interest rate,
due to the time gap between the decision of what the stated rate should be and the actual
issuance of the bonds. )
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If the stated rate is equal to the market rate, the bonds will be issued at their maturity value. If
the stated rate is less than the market rate, the bonds will sell below maturity value — a discount.
Conversely, if the stated rate is greater than the market rate, bonds will be issued above maturity
value — a premium. This is because the bonds are paying better interest than the market
indicates; the market pays more because the bond is paying more interest.
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Bond Interest Rates
Stated Interest rate Market interest rate
e Determines amount of cash e Rate investors demand for
interest borrower pays each year loaning money
e Remains constant e Varies daily
Stated Market interest rate | Issue price of bonds payable
interest rate
9% = 9% Maturity value
9% < 10% Discount (below maturity value)
9% > 8% Premium (above maturity value)

Bond prices depend on market rate of interest, stated rate of interest, and time:

1.

o0 o

Requirement:

Determine whether the following bonds payable will be issued at maturity value, at a
premium, or at a discount.

The market interest rate is 7%. Denver issues bonds payable with a stated rate of a 6.5%
Houston issued 7% bonds payable when the market rate was 6.75%

Cincinnati issued 8% bonds when the market interest rate was 8%

Miami Company issued bonds payable that pay stated interest of 7%. At issuance, the
market interest rate was 8.25 %

The market interest rate is 7%. Denver issues bonds payable with a stated rate | Discount
of a 1/2%

Houston issued 7% bonds payable when the market rate was 6 3/4% Premium
Cincinnati issued 8% bonds when the market interest rate was 8% Par
value

Miami Company issued bonds payable that pay stated interest of 7%. At | Discount
issuance, the market interest rate was 8 1/4%
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Measure interest expense on bonds using the straight-line amortization method.
Accounting for Bonds Issued at Maturity Value

The journal entry to record issuing a bond payable at maturity value includes a debit to Cash
and a credit to Bonds payable. In this example, maturity value is $100,000 and the interest rate
IS 8%. These bonds pay interest semi-annually as do most bonds. Every six months, the
company pays interest of $4,000 to the bondholders. This is computed by the interest formula --
$100,000 x 8% x Y. Interest expense is debited and Cash is credited.

Date Description Debit Credit

lssue Cash 100000

date | Bonds payable 100000
To record issuance of 8% bonds at maturity value

Int.omt Interest expense 4000
g P [ Cash ($100000x 8%x1\2) 4000
ates . .

To record semi-annual interest payment

When the bonds mature, Bonds payable is debited, which will zero out the account.
Cash is credited to record payment to the bondholders.

Date Description Debit Credit
Bonds payable 100000

Maturity date | | Cash 100000
To record payment of bonds at maturity

Accounting for Bonds Issued at a Discount

Market conditions may force a company to accept a discount price for its bonds. Suppose a
company issues $100,000 of its 8%, 10-year bonds at 98. The company receives $98,000
($100,000 x 0.98) at issuance and makes this journal entry, which debits Cash for the amount
received and credits Bonds payable for the maturity value of the bond. The difference of $2,000
is the discount, and has its own account. Discount on bonds payable is a contra account to Bonds

payable.

Date | Description Debit | Credit
Cash 98000
Discount on bonds payable (Contra account to Bonds

Issue bl 2000

date P22 €)

| Bonds payable 100000

To record issuance of 100000, 10 year, 8% bonds at 98
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Carrying Value of Bonds Payable
Bonds payable minus the discount gives the carrying amount of the bonds. The
company would report these bonds payable as shown here immediately after issuance.

Long-term liabilities

Bonds payable

$100000

Less: Discount on bonds payable

($2000)

Carrying value

$98000

The company borrowed $98,000, but still must pay $100,000 when the bonds mature 10 years
later. What happens to the $2,000 discount? The discount is additional interest expense. The
discount becomes interest expense through a process called amortization, the gradual reduction
of an item over time. We can amortize a bond discount by dividing it into equal amounts for
each interest period. This method is called straight-line amortization and it works very much
like the straight-line depreciation method. This journal entry shows this process. The Discount
is credited (reduced) by $100. This is computed by dividing the $2,000 discount by 10 years,
the life of the bond, multiplied by 6/12 of a year. The credit to Cash is the same as before -
$100,000 x 8% x 6/12. Interest expense is debited for the interest payment plus the discount

amortization.

Date Description Debit Credit
Int.pmt Interest expense 4100
dates Discount on bonds payable (2000\10x6\12) 100
Cash ($100000% 8%x6\12) 4000

Accounting for Bonds Issued at a Premium

To illustrate a bond premium, let’s change the example. Assume the bonds are priced at 104

(104% of maturity value). In that case, the company receives $104,000 cash upon issuance.
Bonds payable and the Premium account each carry a credit balance. The Premium is a
companion account to Bonds payable.

Date Description Debit | Credit
Cash 104000
Premium on bonds payable (Companion
4000
Issue account to Bonds payable)
date Bonds payable 100000

To record issuance of 100000, 10 year, 8% bonds at

104
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Carrying Value of Bonds Payable

The Premium on bonds payable is added to the Bonds payable to determine the bond carrying
amount. The company would report these bonds payable as shown here immediately after
issuance.

Long-term liabilities

Bonds payable $100000

Plus: Premium on bonds payable $4000

Carrying value $104000

The company borrowed $104,000, but only has to pay $100,000 when the bonds mature 10 years
later. What happens to the $4,000 Premium account? The Premium reduces Interest expense
through amortization.

This journal entry shows this process. The Premium is debited (reduced) by $200. This is
computed by dividing the $4,000 premium by the number of years of the bond’s life, 10,
multiplied by 6/12 of a year. The credit to Cash is the same as before - $100,000 x 8% x 6/12.
Interest expense is debited for the interest payment minus the premium amortization.

Date Description Debit Credit
Int.pmt Intere_st expense 3800
daites Premium on bonds payable (4000\10x6\12) 200
| Cash ($100000x 8%x6\12) 4000

After the first interest payment entry is posted, the Premium account will be reduced by $200.
The resulting carrying value is $103,800 = the $100,000 maturity value plus the $3,800
premium.

Carrying Value

Bonds payable Premium

100000 200 $4000
\ | 3800

Carrying value aftere— |

first interest
payment= $103000

Adjusting Entries for Bonds Payable

Companies may issue bonds payable when they need cash. The interest payments seldom occur
on December 31, so interest expense must be accrued at year end. The accrual entry should also
amortize any bond discount or premium.

Suppose a company issued $100,000 of 8%, 10-year bonds at a $2,000 discount on October 1,
2010. The interest payments occur on March 31 and September 30 each year. On December 31,
the company accrues interest and amortizes bond discount for three months. Interest payable is
credited for three months (October, November, and December). Discount on bonds payable must
also be amortized for these three months.
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journal entry on the next slide.

Date Description Debit Credit
Interest expense 2050
31\12 Discount on bonds payable (2000\20)x3\6 50
Interest payable ($100000x 8%x3\12) 2000

The next semi-annual interest payment occurs on March 31, 2011, and the company makes this
journal entry. Interest payable is debited to zero out the adjusting entry. Cash is credited for
the full semi-annual interest payment. The discount is amortized for three months. Interest

expense is a “plug” number — the number that makes the entry balance.

Date Description Debit Credit
Interest payable 2000
31\3 Interest expense 2050
Discount on bonds payable (2000\10x3\12) 50
Cash ($100000% 8%x6\12) 4000
Suppose a company issue bonds on March 31, 2010
Date Description Debit Credit
Interest expense 4100
30\9\2010 Discount on bonds payable (2000\20) 100
Cash ($100000x 8%x6\12) 4000
Date Description Debit Credit
Interest expense 2050
31\12\2010 Discount on bonds payable (2000\20)x3\6 50
Interest payable ($100000x 8%x3\12) 2000
Date Description Debit Credit
Interest payable 2000
Interest expense 2050
SNS\208L Discount on bonds payable (2000\10x3\12) 50
Cash ($100000x 8%x6\12) 4000
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